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BUEHEEINALS
3 | erild | mL D Z4E
lem= | mL
[ ] cm DHEALIE mL ICHEENZASETED
TE5

@® 5380cii= ( 5380 ) mL @ 165ci= ( 165 ) mL

@ 619mL= ( 619 ) cn @ 9840mL= ( 9840 ) cn

B ENET S
[ 1L=1000ci |/ |Liicior 1000
L OBf% ci ICEIHNABHLEIL.
X 1000 FHLLL
B e AT
[ | ci=0.001 L ] lcriiz 1L o 1000 900 |
cm DBEME L ICHEENZLEHL I,
X 0.001 F7IE. = 1000 FHuULL\
@ 10800ci= ( 10.8 )L
| 0800(cn)*x0.001=10.8L 1 0800(cn)~+1000=10.8L
@ 3580ci= ( 3.58 )L
3580(crif)x0.001=3.58L  3580(cri)+ | 000=3.58L
@ 80ci= ( 0.08 )L
80(crf)x0.001=0.08L  80(cri)+ 1 000=0.08L
@ 96L= ( 96000 ) cm
96(L)% 1 000=96000 cif
® 0.807L= ( 807 ) cm
0.807(L)X 1000=807 cif
® 28.5L= ( 28500 ) cnf

28.5(L)x 1000=28500 cr
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HAIZ/NILT 3
[ 1 mM=1000000ci | | it1cio> 1000000
m OBEM%E cn (CEENZBLFE,
X 1000 000 ¥#uiLL\
B KET S

[ | ci=0.000001 i - |qiiz1 o> 1000000 501
of DEAIE M ISBESABLE,
X 0.000001 ##E + 1000000 FHULLL

@ 154000cm= ( 0.1%4 ) m
| 54000(c)*X0.00000 | =0. 154 ni

1 54000(cn)+1000000=0. | 54 m

@ 4170000ch= ( 4.17 ) m
4.1 70000(cni)x0.00000 1 =4.17 m

4.170000(cn)+ 1000000=4.17 m

@ 4900 ci= ( 0.0049 ) m
4900(cn)*x0.000001=0.0049 m

57 100(cni)+1000000=0.0049 m

@ 7.08m= ( 7080000 ) cn
7.08(m )X | 000000=7080000 cnf

® 0.65m= ( 650000 ) cm
0.65(m )X | 000000=650000 cnt

® 5.004nm= ( 5004000 ) cn
5.004(ni )X | 000000=5004000 crf
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